| RecoVix_vs_GenVix | MatchedRecoVtx_vs_GenVix
0100

S

=
o
o

(2]
o

o} E O C : : : : : : :
o o 5] = : : : : : : :
£ 90 F e A S
[4) o = : : : : : : :
> > C : : : : : : :
o 80 0 Aoy e MRS S e
1S 1S4 = : : : : : : :
[} <% C : : : : : : :
@ 70 g TOF o
1500 S T O WO N O YOS,

RTINS S S T,
: : : : |

a
o
at
.
=

00 S A
ST T

0 Y

w b
o O

e e 20
s s

wmw

Rati
Rati

=
!
4
N
—,
7
5
e
e
T
b,

=
TT T T[T T 1T

09565540 50 60 70 80 90 100 09853646 50 60 70 80 90 100
Simulated interactions Simulated interactions

—=— DQM_mKFIt_TTbase
—e— DQM_mKkFit_TT_retrainOIldFiles125
| Merged vs ClosestY _,_ pQM_mkFit_TT retrainNewFiles125

— DQM_mkFlt TT_retralnNewFHeleSAndSQCD
G) U. 1

T S 39-09
T S =
i Do

oo : 0.07 """"" """"" """" fromrees """"
AR S #L P
e b ] o Rl £ R

| e
R T T e e

% 0
: : T : :

Merge rate

S 10 5T|+T
*0 102 10 1 >0 -15 -10 10 15 20
Closest distance in Z (cm) Z (cm)



	Contents
	Page 1


